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QUESTION 1

Which of the following are true regarding the usage of the IDENTIFIED BY clause in the GRANT statement used to
create a new user account?

A. There is no IDENTIFIED BY clause for the GRANT statement

B. The IDENTIFIED BY clause is always optional

C. The IDENTIFIED BY clause is always mandatory

D. The IDENTIFIED BY clause may be mandatory depending on the current SQL mode
E. The IDENTIFIED BY clause specifies the password to be used with the account

F. The IDENTIFIED BY clause specifies an alternate user name for the account

Correct Answer: BD

QUESTION 2

The password for the existing user \V'kofi\\'@\\'agric.compl.com\\' must be changed to "Sakila". Which of the following
will do that?

A. SET PASSWORD FOR \VkofiV'@\'agric.compl.com\\' = \\'Sakila\\

B. SET PASSWORD \\'Sakila\\' FOR \Wkofi\\'@\\'agric.compl.com\\

C. SET PASSWORD FOR \WkofiW@\\'agric.compl.com\\' = PASSWORD(\\'Sakila\\')
D. SET PASSWORD(\\'Sakila\\') FOR \\kofi\l'@\\'agric.compl.com\\

Correct Answer: C

QUESTION 3

Assuming that the account \\'joe\\'@\\'%\\' does not already exist on the server, executing the statement mysql>
CREATE USER \Vjoe\'@\\'%\\' IDENTIFIED BY \\'sakila\\

will have the following consequences:

A. The account \Vjoe\\'@\\'%\\' is created on the server. However, clients cannot connect using this account until further
privileges have been assigned to the account.

B. The account \Vjoe\W@\\'%\\' is created on the server. Clients may connect to the server using this account, but will not
be able to access any databases, tables or stored routines

C. The account \Vjoe\V'@\\'%\\" is created on the server. Clients may connect to the server using this account and
execute stored routines, but will not be able to access any databases or tables

D. Nothing; there is no such command as CREATE USER
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Correct Answer: B

QUESTION 4
Consider the following:
mysql> SHOW STATUS LIKE \\'Qcache%\\';

+ + +

| Variable_name | Value |

+ + +

| Qcache_free_blocks | 87 |

| Qcache_free_memory | 318442 |
| Qcache_hits | 11224 |

| Qcache_inserts | 19215 |

| Qcache_lowmem_prunes | 437 |
| Qcache_not_cached | 9155 |

| Qcache_queries_in_cache | 240 |
| Qcache_total_blocks | 924 |

+ + +

What can be derived from this output?

A. There is a low utilization of the query cache.

B. There is a normal utilization of the query cache.
C. There is a high utilization of the query cache.

Correct Answer: A

QUESTION 5

Consider the following EXPLAIN of a simple Join: mysql> EXPLAIN SELECT CountryList.Name, CityList.Name,
CityList.Population -> FROM CountryList JOIN CityList ON CountryList.Code = CityList.Country -> WHERE
CityList.Population > 8000000\G ***#kkkitkkkitikkkickiiik ] poyy *rtkkkkktibedk id: 1 select_type: SIMPLE
table: CountryList

type: ALL possible_keys: NULL key: NULL key_len: NULL ref: NULL rows: 239 Extra; ***¥**itkkkkiiiikkiiiiikkit 2 row
kkkkkkekeeekkk jd: 1 select_type: SIMPLE table: CityList type: ALL possible_keys: NULL key: NULL key_len:
NULL ref: NULL rows: 4079 Extra: Using where How many rows need to be examined to perform the join?
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A. 239, the number of rows in the first table

B. 4079, the number of rows in the second table
C. 2159, the average of both numbers

D. 4318, the sum of both numbers

E. 974881, the product of both numbers

Correct Answer: E
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